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BI1| (1)~(3) DR x(t) ICOWT, IRME « A - A - A - AR s,

L, BAIRHDEICHOWTITHEM BT D2 L, (14 x3)
(1) z(t) = 4sin(rt)
&

o HRIE A=4

o HUE w =7 [rad/H]

o WIHINIAH ¢ = 0 [rad]

o AT = 2T =2 []
w

o H(F’ﬁf— = 0.5 [Hz
(2) = —3sin (47rt + )
&5

o HRME A=—

o fAHE w=4r [rad/]
o WIHINZIFH ¢ = g [rad]

OEﬁT:%:QMW

. J%miﬁzf:% = 2 [Hy]

. T
(3) z(t) = 2sin (Z(t - 3))
FE&B x(t) = 2sin (Z(t - 3)) = 2sin <§t - %) )
o fRIE A =2
o AL w= Z [rad /)]

o WIHINZIFH ¢ = —??Tﬂ [rad]

o M T = 2T =8 []
w

o JEBHK f = % = 0.125 [Hz]
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M2 (1)~(3) DERMITE S sin OB E ©(t) = Asin(wt+¢) DI TR LRSIV, (14 x3)
(1) #iE 5, FE 2 [rad/FY], HIIATH g [rad]
245

z(t) = 5sin (27rt + %)

(2) #=0E 2, JE¥E%L 5 [He]

FEG W f =5 Hz XV, AHE w =271f = 107 [rad/F].
z(t) = 2sin(107t).

(3) BA%k sin(nt) OWFZ 0.1 [F0] HE D 7= 3 DB
i &5 151

z(t) = sin (7(t + 0.1)) = sin (wt + 11())
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